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The easiest way to spot the subjunctive is
if the verb doesn’t agree with the subject
in the normal way, e.g. ‘he eat’ rather
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was nervous because the party might make no

7) Eg She
‘o the playground. (1 mark)

difference

OR

£g. She was nervous because Suman Patel might not
d if there was no article then the

write about the party, ant
Sesancil might not change their minds about the playground.

(2 marks)
It says that interest in the party far exceeded their

expectations.
The noise and chatter of everyone attending was deafening.

(1 mark for any of the above answers)
£.g. She felt happy to see the article. (1 mark)

OR

Eg. She felt happy to see the article because she thought that
it might mean the playground would soon be fixed. (2 marks)

E.g. She didn't give up when the council refused to fix the

8

9

10)
playground. (1 mark)
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Pages 89 — Inference Questions

)

6)

) Eg. She felt happy. (1 mark)
B E% Because she didn't have to go to school. (1 mark)
The rain caused a loud banging against the glass.
Several slates fell from the roof of Louise’s house-

‘A garden chair skidded across the lawn.
(1 oark for any of the above answers, 2 marks in total)

o catch drips from the leaks. (1 mark)

nothing short of a tragedy (1 mark)

Eg She felt disappointed. (1 mark)

OR

Eg. Her “heart sank”, which suggests she felt disappointed.
(2 marks)

made all the difference (1 mark)
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